
Name _____________ Roll No. ________
(Class-VI)

Worksheet - 7

Class VI

Chapter - 6 (Integers)
1. Fill in the blanks :-

i) The set of whole numbers andnegative numbers is called _________.

ii) Put the correct sign (>, <, =)

i) (-14) + (-6) __________ (-14) - (-6)

ii) 45 - (-11) _________ 57 + (-3)

iii) 16 + (-16) = ______.

iv) -5 + _______ = 0

2. Match the following :-

i) 4 + 3 a) -1

ii) -4 + 3 b) 7

iii) -4 - 3 c) 1

iv) 4 - 3 d) -7

3. MCQ

i) On subtracting -8 from 0, we get

a)   0                   b) 8                   c)  -8              d)  5

ii) Additive inverse of -5 is

a)   5                   b) -4                  c)  0              d)  None

iii) (-42) + (-35) is equal to

a)   -7                 b) -77                 c)  77             d)  7

4. Solve :-

i) Write all the integers in ascending order between 0 & -6.

ii) Represent in integer form

i) A submarine is 500m below the sea level.

ii) Deposit of 1000 in your account

iii) Solve on the number line

i) (-5) + 2

ii) (-5) - (-10)
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